Mud season, Strategic Considerations

As the mud has arriveditis now time to do a status report on the progress of the war sofar, and alsoto
start planningforthe blizzard, arriving at the beginning of December. Forthatreason, | will notdo a turn by
turn AARduringthe muddy period, but rather one AARfor the entire mud period. This AAR should be
released onthe firstturn of the blizzard.

Of course, the estimation of who has won what so far is largely subjective and as such, the followingis
simply my personal opinion, and one very subject to disagreement. When considering how the waris going
so far, | think you will have tolook at five different topics, namely:

Axis Progress North

In the north, the Axis has reached Leningrad and the Volkhov. I strongly believe that the main deciding
factor of Axis progress here iswhetherornotLeningrad has fallen orisjust aboutto fall. | believe thatit will
not. Come nextyear’s German offensive, | will be creating Infantry Corps to defend the Nevariver crossings
making any attacks on Leningrad all butimpossible. However, the Germans have not been stopped well
short their histroical progress, sothe outcome of the battle inthisarea can best be described as a draw.

Axis Progress Center

In the center, the Axisforces were historically stopped very short of Moscow (within one ortwo hexes).
Tula had also fallen. While the Germans may yet use the snow turns to advance on Moscow, | consideritall
but impossible forthem to advance ten hexes and take a well defended city in the shorttimespan they
have left before the blizzard. As | still hold awide expanse of territory before Moscow, | considerthe battle
inthis sector aminor Sovietvictory sofar.

Axis Progress South

In the south, the Axisforces historically wintered on the Mius river west of Rostov. Kharkov and Crimeahad
fallen, and only Svastopol was stillin Soviet hands. The German Army Group South HQ wintered in Poltava.
In this game, the Axis are very short of obtaining that advance, and so | consider the battleinthisareaa
majorSovietvictory sofar.

Soviet Industrial Buildup

As | have managed to evacuate all named industry in full while maintaining a high production of both Heavy
Suppliesand Armamanets, | consider the Soviet evacuation of industry to be almost perfect. Tomy
knowledge, the only industry | have lost so far, was that of Rigaand Minsk. In my book, thisequalsa
decisive Soviet advantage for the coming battles.

Soviet losses

The Sovietlosses sofarhas beenverylow, in my opinion. Whilel stand to lose some 100.000 men at Rhzev
whenthe snow arrives, thisis the first major encirclement of the war since the Bialystock pocket was
smashedinthe openingbattles. The Red Army now standds at more than 5.5 mio men, 53.000 guns,
10.000 tanks and more than 7.000 aircraft. This would have been amajor Sovietadvantage, haditnotbeen
that the Wehrmacht still stands at 5100 tanks as well. Historically, | believe they were down below 1500 at
the beginning of the blizzard. In total, | consider thisaminor Soviet advantage forthe future.

To sum up, | believethe Soviets have done quite wellthis summerand fall, given what they have had to
work with. While | have no experience with playingthe game afterthe summerof 1942, | believe the



situation currently points at some sort of minor Sovietvictory. The task ahead is to improve my situation
further, sothat | may playitthrough to eithera majoror a decisive victory —while of course avoiding to
lose my advantage lettingthe Germans have a win.

The following strategy brief will discuss how | intend to go about achieving thatin the winter of 41/42.



Strategy for the winter of 41/42
I strongly believe that the main objective forthe Soviets during the winter of 41/42 are twofold:

e Toimprove their positions before the German summer offensive of 1942.
e Toinflictas many casualties on the Wehrmachtas possible.

I think that the best way of doingthisisto launch a series of planned strategic offensives rather than just
attacking where the opportunity arises. For this winter, | am currently planning two such offensives, but

may decide to launch firther attacks, should my industrial capacity and ability to supply the forces warrant
that.

The two planned strategicoffensives can be seen onthe map below, and will be discussed in further detail
below:

The Leningrad offensive

In orderto link up with the besieged forces of Leningrad, lintend to launch and attack across the Volkhov
combined with a breakout attemptfrom Leningraditself. There are several benefits to a successful attack,
namely:

e Possiblyencirclingand destroying the German forces alongthe northern parts of the Volkhov.

e Improving my positions, so thata German attack in 42 to link up with the Finns on the Svirisless
likely.

e Making supply of the forcesin Leningrad easier, freeing up vehicles for othertasks.



The main attacks will be launched by the armies of the Leningrad Front, who already have some of the best
leadership the Red Army has to offer. | plan to launch the attack as soon as the Volkhov freezes over.

The Kursk offensive

Thisis by far the largerof the two planned offensives. The planis to attack southwest at byransk using the
Western Front while simultaneously attacking northwest from Sumy with the southwestern Front. If
successful, the two attacks should link up in the vicinity of Klimovo possibly encircling a huge portion of the
German Wehrmacht.

Thisis a tall order, but | have some advantages that will help me along the way:

e The Southwestern Frontand the Western Front have some of the best troops and leaders of the
Red Army.

e The German supplylines are quite extended inthisarea, and | have a lot of partisansinthe German
rear.

e Both of the main Soviet attacks will hitareawhere the Germans defenses consist partly of Infantry
Regiments that have notbeendugin properly.

e Tosupportthe Westernand Southwestern Front units, |am forming up two mobile armiesto
exploitany breakthroughs (Batov’s 56" Army in the north and Rokkosovsky’s 4" Army in the south).

In orderto prevent Germanreinforcements flowinginto the area, | intend to expand both the two main
attack wdges by running attacks directly west on the flansk of those attacks.



Turn 18

The Armies of the Leningrad Fronthave all been setto “Refit” to ensure thatthey reinforce to theirfull
potential. Further, reshufflingis begun sothat| will be better positioned for the coming attack.

Outside Moscow, the 3™ Army of the Western Frontis beingmoved south along with the 56™ Army under
STAVKA. In orderto take up the positions vacated by the Western Front, several divisions underthe
Moscow MD and STAVKA are being moved up.

In the south, the Armies of the Southwestern Front has all been setto “Refit”. | have also begun
preparations for movingthose armies into their starting positions for the coming attack.

Turn 19

| have continued to slowly move my troopsinto position forthe winter offensive. Realizing that the
departure of the Western Front from the Moscow approaches leave avacuum, | have set a number of
newly arrived STAVKA divisionsinthe areato “Refit”. | will then move a Transcaucasus Army HQ up here

and create a new army for the defense of Moscow. Once the Volkhov Front arrives, that too will go to
Moscow.

The Luftwaffeis back flyingiinthe east, and have been busy intercepting my bombing campaign against the
German forces. The total casualty tally has ended up at 70 Axis aircraft (inclusing 47 single seatfighters) for
215 Sovietones (evenly distributed between Fighter Bombers, Tactical Bombers and level Bombers). Once
again, the Sovietlosses can be easily covered by production, while the German losses will inflict attrition on
the Luftwaffe. Onthe ground, the bombings have costthe Axis some 244 guns in total.

Turn 20

The weatherinthe Northern Soviet zone has been snowy instead of mud this turn, and the Germans have
used the weatherto push one more hex towards Moscow. | have used the weatherto continue moving my
Western Front units southwards to theirstaging areas for the winter offensive. To coverthe space left
behind, and to make it look as if defending Moscow is still my first priority, | have filled every hex between
the Germans and Moscow with units —mainly low quality STAVKA units.

In the air, the Luftwaffe has been recalled to Germany once more, resultingin aloss rate of 61 soviet

aircraft lostforzero Axisones. On the ground, my bombing campaign has cost the Axis 291 guns and 4300
men.

Turn 21

Weatheris mud everywhere, so the front has moved little. The Germans have pulled back from Kursk,
enabling me toreconnecttothe city. Inthe south, they have done the same at Melitopol, but | have had to
little MP to really get back to safety with my three cavalry divisions.

The Luftwaffe is back flying, which has led to some heavy lossesin the sky. The total casualty tallyis 91 Axis
Aircraftfor 345 Soviet ones. The numbers coverthe loss of 88 German single seatfighters and also the loss
of 116 U-2VS and 53 Soviet Longrange bombers. All things considered | am content, as such Luftwaffe
losses will soon costthem the ability to fightin the skies. Most of my losses have been suffered while
bombingthe Luftwaffe bases, but as my losses are mostly covered by production, | see little reason to stop.

Nextturn, the weatherwill be snow.



Turn 22, Strategic Considerations
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As the mud has turned to snow acros the theater, the Red Army has reached two new milestones. The Red

Army has now reached a size of six million men, and at the same time itis one million stronger than the
opposing Axis Armies combined.

At the same time, the Soviet productionsystemis getting ever stronger. By now | produce 285 fighters, 260
bombers, 82 light tanks, 183 Medium tanks and 51 Heavy tanks every turn.

Axis VP are now 196, whichis getting close to a major victory, should the frontremain stable forthe
remainder of the game.



The North
Situational assessment

The German lines atthe Volkhov is getting ever stronger. lam beginning to think | may not have a quick and

decisive breakthrough and subsequent encirclement of major German forces afterall. Behind the lines,
some 60 Luftwaffe single seat fighters are protecting the infantry forces at the frontline.

Planning

As | am basicallyin position for the attack north of Novgorod, my only actioninthis areawil | be a series of
bombing attacks against the German troopsinthe area. | continue to bomb the Luftwaffe airfield with

fighteronit. | realize this will cost me asome casualties, but | feel | can sustain losses far ebtterthanthe
Germans.

Execution

It seems as if leaving the Luftwaffe pilotsin place combined with th eimproved weather conditions has
beengoodforthe Luftwaffe fighters. The northern bombings gave an exchange rate of three German single

seatfightersfor 27 Soviet ones plusthe loss of four bombers. It seems | might have to wait forthe blizzard
before | can effectively force casualties on the Luftwaffe in this area.

Below is an image of the situation south of Leningrad, as | give the turnto Hermann.

FINNISH NOATTACK LINE




The Center

Situational assessment

The Germans have crushed the remaining part of theKaliningrad Front pocket, as expected. They have also
used the snow to conduct furtherattacks in the direction of moscow, advancing one ortwo hexes. This

actually suits me quite well, as such attritional attacks will be far worse on the German OoB than it will on
mine —eveniflsuffergreaterlossesthanthe Germans.

In the southern part of the sector, Kursk has fallen.

Planning

| will do little otherthanfilling up my frontand conducting a series of bombingattacks on the German
troops on the front lines.

Execution

The absence of the Luftwaffe overthe central area has meantthat my bombing campaigninthisarea has
progressed more orlessaccordingto plan. There has been little developmentinthe area.

Below isan image of the frontat moscow, as | give the turn to Hermann.






The South
Situational Assessment
The front inthis area is more or lessfrozeninto place, and very little is happening here.

Planning

I will dolittle here, except moveanotherarmyintoa little bit of a better position forthe blizzard attack. Of
course, | will also do the traditional bombing attacks.

Execution

Thereisverylittle interseting to say.

Below is an image of the area northwest of Poltava, from where | planto launch my southern pincher of the
Kursk offensive.




Conclusion

With 148 Sovietaircraftlostfor 10 Axis ones, thisturn has certainly been an arial defeat forthe Soviets. Not
because of the exchange rate, which can be easily covered, but because the German losses has been far
below theirproduction. | need to do more damage to the Luftwaffe, orthey will eventually come backin
strength.

On the ground, | have destroyed another 191 Axis guns, and the German Man2Gun index numberis now
117,1. The Man2Gun indexisanumberl calculate to show the “mechanization” of the Wehrmachtand the
Red Army. | index the ratio between men and gunsto be 100 at the start of the war, and thentrack the
progress of thisnumberturn by turn. A German numberof 117,1 meansthat by now, thereis 17,1% more
soldiersto each gun inthe wehrmacht, signalling that the German production of Guns can notkeep up with
the expansion of the army.

There is now only two turns left before the blizzard, and hopefully | will be able to unleach a major
offensive onthe first blizzard turn.



